>
N & o & AF & H Al A
20189 = =0l & LB H ME=ST W
AN MESID
B YASES MEBOE 23
Sl ARIMEET XY CERED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ME =T 0t 333,324,205 293,626, 104 39,698, 101
= 209,372,805
Xl 3,252,000
J| 32,370
< 32,391,020
Al 88,276,010
MNASE 480y B 93,050,291 89,236,004 3,814,287
=2 73,833,401
Xl 3,252,000
< 6,531,817
Al 9,433,073
AN E=R X 6,934,953 4,550,284 2,384,669
= 2,308,576
< 488,189
Al 4,138,188
Al ER2 29 2,558,802 2,140,440 418,362
307 glz2tol & 2,558,802 2,140,440 418,362
05 RIZt2IEt = 1,493,305 1,269,940 223,365
OA2I = X2 2l AH| 1,218,309
OAMsI =X & 2gHl 20,000,000 *3H 2 60,000
OMEBISXIAE SAA HRHMA 214,996
10 AL SXNAIEEHE2EH EX 1,065,497 870,500 194,997
OAtaI S X2 2l AH| 871,672
OAM2 =X 2 2FHl 20,000,000 *20H A~ 40,000
OMSEIEXIAE SAXR HRMA 153,825
M EXZ BEMX EESY 87,120 85,680 1,440
< 26,136
Al 60,984
307 glz2+ol & 87,120 85,680 1,440
= 26,136
Al 60,984
11T MIEXASEX 87,120 85,680 1,440
OAMEISX& SAX S8 87,120
< 26,136
Al 60,984
M3 =X& NESX 208 22| 50,000 35,000 15,000
= 10,000
Al 40,000
307 21201 A 50,000 35,000 15,000
< 10,000
Al 40,000
11T M3 SXAISEEX 50,000 35,000 15,000
OAME=X& NA=X220d8 29| 50,000
< 10,000
Al 40,000




SN XD
HE: HASSE MEOUY B3
EHe: AQIME=SI XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
M EX2 AHEZZ)H IS 20,000 46,810 N26,810
307 2Iz2t0| A 20,000 46,810 N26,810
11 A EXAIEEX 20,000 46,810 N 26,810
ONMEZE A =X 2 4,000
ONFEZE Al 22X 2 4,000
OZESIESE A S A2 4,000
OstAtE= Al = X 2 4,000
OKUHHEE A SR 2 4,000
AMNSIEXS JsEL 82,461 132,359 N 49,898
& 24,738
Al 57,723
402 BI2H X 20| M 82,461 132,359 N 49,898
= 24,738
Al 57,723
02 CIZEXIEAIS EX (0| THL) 82,461 132,359 N 49,898
OMSEX2 JsEL 82,461
& 24,738
Al 57,723
E=0AlA QAEFZE| (AFREO &) 27,000 27,000 0
307 2iztol A 27,000 27,000 0
05 QIZtR E S 27,000 27,000 0
OE=0l AlE E22 27,000
L=0AE 29 723,679 671,356 52,323
= 506,576
= 217,103
307 QI2t0| ™ 723,679 671,356 52,323
= 506,576
=} 217,103
10 A SEXNAEEHE2IGH EX 723,679 671,356 52,323
OL=QAE 29 723,679
= 506,576
= 217,103
=X E5HI(&H) 557,373 553,399 3,974
= 167,212
Al 390, 161
307 2Iz2t0| & 557,373 553,399 3,974
= 167,212
Al 390, 161
11T AISIEXAIE EX 557,373 553,399 3,974
oOoL=X E5H(&H) 521,733
=} 156,520
Al 365,213
OLE=QAAE SAA SEE 35,640




SN XD
HE: HASSE MEOUY B3
& AYMEST X (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 10,692
Al 24,948
MEISX AL Ex1=H K& 13,008 13,008 0
307 gl2tol & 13,008 13,008 0
11T ALS S RAEE = 13,008 13,008 0
OAZI S XA B0 =Hl X 13,008
M ZXAIE SAX |JIEE HEL=S 4,000 4,000 0
201 L2l 4,000 4,000 0
03 A2 Z Hl 4,000 4,000 0
OMIISXAE SALL 185 MELS 4,000
M3 =EXAL SXHE K& 77,100 82,160 25,060
307 21201 A 77,100 82,160 25,060
11T AISI S XA E X 77,100 82,160 25,060
OAMEISXIAL 2X2HE X & 77,100
AMEIEXAL Sotel gsHl X2 5,000 5,000 0
307 21201 A 5,000 5,000 0
11T AR SXAIEE = 5,000 5,000 0
OAMII=XIAL S0tel &=dl XI& 5,000
Hed Kb e gl 1,000 1,000 0
301 gEtE L= 1,000 1,000 0
1MIIEBESS 1,000 1,000 0
OdHAX Aol 1,000
IRASHSAY 76,000 76,000 0
< 13,000
Al 63,000
307 glz2+ol & 76,000 76,000 0
< 13,000
Al 63,000
11 AISISAAISEE X 76,000 76,000 0
OJIRASH S ALY 76,000
< 13,000
Al 63,000
TAAHE IeA2EHE XA 30,000 30,000 0
301 L2 A Z 30,000 30,000 0
01 MEIBE X263 30,000 30,000 0
OX&RAANE ICALZEEZ N 30,000
M22RE 2l 485,810 393,900 91,910
301 et a3 485,810 393,900 91,910
0B A =R RAB A4S 485,810 393,900 91,910




SN XD
HE: HASSE MEOUY B3
Sl AlRIME=T X (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAMNS=ELRYA FAH K= 479,520
OANZER2RI BAMMALEH 6,290
Met=X dRFX 21,000 22,000 A 1,000
203 ¥ 2 =&H| 21,000 22,000 A 1,000
03 AIZH =& 25 X H| 21,000 22,000 A 1,000
O=2X&d g4 9,000
OME=2XXNE 43 =& 7,000
oME=2I Ul A SdRFA 5,000
S2IANE S FAANEIsELAS 100,000 90,000 10,000
402 BI2H X 20| M 100,000 90,000 10,000
01 SIZEXIEANYEXR (MMM A) 100,000 90,000 10,000
OZ2XAE S FAAL JDsEY 100,000
NSASEH =25 SHAR 100,000 70,000 30,000
307 2izto| A 100,000 70,000 30,000
11T AISIEXAIEEX 100,000 70,000 30,000
OXSAMISH 223 85I 100,000
ST AIY & 435t 30,000 30,000 0
201 et 9| 30,000 30,000 0
01 AP 2t 2] H| 30,000 30,000 0
O=XAY 2435 30,000
Ol M2 R2sH X& 30,000 0 30,000
o=t 30,000
201 et | 5,000 0 5,000
o= 5,000
01 AFR 2t 2| H| 5,000 0 5,000
OO0l 2l RS 5,000
& 5,000
206 M = dl 25,000 0 25,000
= 25,000
01 X2 H| 25,000 0 25,000
OO0l RS 25,000
o= 25,000
L=0AE 2ANESH XS 13,600 0 13,600
301 et A= 13,600 0 13,600
01 Al B & X 462 13,600 0 13,600
OL=0 AAES MAHH XA 11,500
OL=0 dABs ZFXH XA 2,100
HA4J|l ANEASEEHHE LY ARSA 40,000 0 40,000
207 I & 40,000 0 40,000




AN MESID
HE: HASSE MEOUY B3
& AYMEST X (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A2 ESHI 40,000 0 40,000
OM4Il XA EHHE+E AREA 40,000
AMER2HE XA 1,802,000 0 1,802,000
= 1,802,000
301 L2 A F 1,802,000 0 1,802,000
= 1,802,000
0B A =RQAB LS 1,802,000 0 1,802,000
OMIA=ERE == 1,545,000
= 1,545,000
OAMII=2R I=4| 63,000
= 63,000
OMIES2R2E wsl 194,000
= 194,000
HASE MUIA XA 86,115,338 84,685,720 1,429,618
= 71,524,825
Xl 3,252,000
< 6,043,628
Al 5,294,885
MH=0 76,235,088 76,077,822 157,266
= 68,611,581
= 5,336,455
Al 2,287,052
301 L2 A Z 76,235,088 76,077,822 157,266
= 68,611,581
< 5,336,455
Al 2,287,052
01 Al EE X =06l = 76,235,088 76,077,822 157,266
O=eD ==X MAHSH 76,235,088
= 68,611,581
< 5,336,455
Al 2,287,052
I ZMEEET WSSO 92,242 86,161 6,081
308 XXM SO0 A 92,242 86,161 6,081
08 WEJ|l 202 X 92,242 86,161 6,081
O=2J=dME=ZA WESH 92,242
HAEHS 384,460 371,612 12,848
= 346,012
< 26,912
Al 11,536
301 YerE A3 384,460 371,612 12,848
2 346,012
< 26,912
Al 11,536
01 MEIBEE 2053 384,460 371,612 12,848
O=0|z=d8g= X HatE =S 384,460




SH: MBI D
HE: HASSE MEOUY B3
??: HASE MHIA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 346,012
< 26,912
Al 11,536
282=X K& 2,328,821 2,431,570 A 102,749
= 1,863,057
< 186,305
Al 279,459
301 et d=s 2,328,821 2,431,570 A 102,749
= 1,863,057
< 186,305
Al 279,459
01 MEI2EZE+06l= 2,328,821 2,431,570 A 102,749
o2==X XA 2,328,821
= 1,863,057
< 186,305
Al 279,459
NETEE AMSIMEBIA SXALS 4,645,714 4,000,000 645,714
Xl 3,252,000
< 464,572
Al 929,142
201 Let2d] 1,954 1,954 0
Xl 1,368
< 196
Al 390
01 At 221l 1,954 1,954 0
OXAXE288 MIAMEIA EXHAIY 1,954
Xl 1,368
< 196
Al 390
202 Odl 1,050 1,050 0
X 735
< 105
Al 210
01 = LH 4 di 1,050 1,050 0
OXNEXE88 MIMEIA EXALS 1,050
Xl 735
< 105
Al 210
403 MtXISHH S A0l & 4,642,710 3,996,996 645,714
Xl 3,249,897
< 464,271
Al 928,542
02 SO 2SUHHEAEE 2 E AL B 4,642,710 3,996,996 645,714
OXNEXEE MaMEIA FEXALS 4,642,710
X 3,249,897
< 464,271
Al 928,542




SN MBS
HE: HASSE MEOUY B3
??: HASE MHIA X (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S At 2tel At el dl X3 311,170 303,240 7,930
= 155,585
Al 155,585
101 @14 Hl 311,170 303,240 7,930
= 155,585
Al 155,585
03 RIAHAZ 2 E =+ 311,170 303,240 7,930
O S At 22l AL elAd] XI& 311,170
= 155,585
Al 155,585
s =X EsH(sSUH=EN)FA 99,000 30,000 69,000
307 glz2tol & 99,000 30,000 69,000
11T MISXASEX 99,000 30,000 69,000
Os XNIAEE aAM gd3t XN& 99,000
g m= 0t0l 8l= ot & 562,100 545,000 17,100
301 et a3z 562,100 545,000 17,100
MIIEBE4d3 562,100 545,000 17,100
O A= & HEHE HHE 562,100
SEE EEMRENH 2EXNE 146,928 127,200 19,728
< 29,384
Al 117,544
307 21201 A 146,928 127,200 19,728
< 29,384
Al 117,544
11 ALS S RAEE = 146,928 127,200 19,728
OMIIEXNMNEELH 29 146,928
< 29,384
Al 117,544
HASE ety X2 40,000 40,000 0
301 et a = 40,000 40,000 0
01 MEIEZE+6l= 40,000 40,000 0
ONMASIHE XN& 20,000
OAMEI=XAIE XA 20,000
d=A XGAZ EZEAM 29 50,000 45,000 5,000
307 gl2tol & 50,000 45,000 5,000
10 AL SXNAIEEE2EHEX 50,000 45,000 5,000
OF=Al XNGANSIEBEHEAM 24 50,000
AZIEX2 & @A XIR 11,115 11,115 0
307 izl & 11,115 11,115 0
11T MISXASEX 11,115 11,115 0
OAMBIZXI2 & A X& 11,115




SN ME=T D
HE: HASSE MEOUY B3
??: HASE MHIA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEes e~ REAMUIA X2 7,000 5,000 2,000
201 £B-2d| 7,000 5,000 2,000
02 =224l 7,000 5,000 2,000
Od=ed e-dBREAMHIA XA 7,000
ROtot= SXNAMHA X XA 500,500 420,000 80,500
= 342,550
Al 157,950
405 RHoHF S HI 500,500 420,000 80,500
2 342,550
Al 157,950
01 AL EZFH S 500,500 420,000 80,500
OO0l =SXMEIA XA 500,500
= 342,550
Al 157,950
AT SeAtel el X2 24,000 24,000 0
= 12,000
Al 12,000
201 Let24E] 9,600 9,600 0
= 4,800
Al 4,800
01 At 22l 9,600 9,600 0
OAZ7 Sgatdl el XA 9,600
= 4,800
Al 4,800
301 gt 4= 14,400 14,400 0
= 7,200
Al 7,200
01 A3l EE E 56l = 14,400 14,400 0
OAZF SgAtdl2el XA 14,400
= 7,200
Al 7,200
SOE AEE SHMHIA X 277,200 168,000 109,200
= 194,040
Al 83,160
201 L2l 110,880 84,000 26,880
= 77,616
Al 33,264
01 At 22l 110,880 84,000 26,880
oOs8Hs ¥EE SEAMHA XA 110,880
= 77,616
Al 33,264
301 et a3z 166,320 84,000 82,320
= 116,424
Al 49,896




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

H

Al

166,320

166,320

116,424
49,896

84,000

400,000

400,000

400,000

400,000

e
OFZEAN SXWE HFAS

Mo
02

400,000
400,000

400,000

= M

182,752,624
109,442,605
32,370
18,860,460
54,417,189

154,596,772

28,155,852

{0
0:

= W

155,714,596

106,419,423
11,864,448

37,430,

725

130,036, 306

25,678,290

S|
B
e
oy

= N H

136,885,
98,059,
8,405,
30,420,

074
937
137
000

117,261,068

19,624,006

=z N H

136,885,
98,059,
8,405,
30,420,

074
937
137
000

117,261,068

19,624,006

= MW

136,885,

136,885,
98,059,

074
074
937

117,261,068

8,405,137
30,420,000

19,624,006

LIl ALY

= N W

15,777,720
7,888,860

3,155,544
4,733,316

10,200,

714

5,577,006

101 1Al

= N H

3,012,750
1,506,375
602,550
903,825

1,740,

600

1,272,150

04 DIt 22 S
O L Rel At

A
e

= HnH

3,012,750
3,012,750

1,506,375
602,550
903,825

1,740,

600

1,272,150

o

131,450

65,725
26,290

87,

500

43,950

«©




SN M
X{ XH -
(=R B

el

1
x

N

o
i
£
T
=
x
1
>
11
(e
o
Jo

Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 39,435

01 At | 131,450 87,500 43,950

]
el Xtel Ak 131,450

65,725
26,290
39,435

= W

202 o4 Hl 8,900 6,900 2,000
4,450
1,780
2,670

=z N H

01 =W o8I 8,900 6,900 2,000
O L Rtel At 8,900

4,450
1,780
2,670

= MW

307 21201 A 12,624,620 8,365,714 4,258,906
6,312,310
2,524,924
3,787,386

= 0 W

04 DI2HEH AFAFRI 2 X 8,000 8,000 0
ORI =TpVEIPNE= 8,000
4,000
1,600
2,400
12,616,620 8,357,714 4,258,906
12,616,620
6,308,310

2,523,324
3,784,986

= N H

© =
oo
e
e =
- >

Q
H
2 B

o
=

= Hn H

H
o

r

el (HEgeld) 941,252 565,554 375,698
470,626
188,250
282,376

= 0N W

o
e
[
=

61,386 44,649 16,737
30,693
12,277
18,416

= N W

04 DIt 22 XS+ 61,386 44,649 16,737
OLolgdXtel A (Hgol=) 61,386
30,693

12,277
18,416

= N W

307 glztol & 879,866 520,905 358,961
439,933
175,973
263,960

=z N W

11T M SXAIEEX 879,866 520,905 358,961




SN XD
Hu: Lo=] ZX
Sol: LS MR X EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ol YRelmg(dgelxd) 879,866
= 439,933
< 175,973
Al 263,960
COFATNANEYH 2 186,700 166,800 19,900
307 glz2tol & 186,700 166,800 19,900
05 RIZt2IE = 186,700 166,800 19,900
OLQHYXNAEH 2¢ 186,700
Lolgdel OHE ALY 627,000 627,000 0
307 21201 A 627,000 627,000 0
05 BIZERI & 3 627,000 627,000 0
Ol DtAALE 627,000
LoRs ANIESAL 29 90,000 90,000 0
301 gEtE 4= 90,000 90,000 0
01 MI2EZE+06l= 90,000 90,000 0
OLolRsS ANIASAL 2 oA 81,900
OklRs ANEASAU 23 8,100
AlLIE2 Y 224l 800,000 770,000 30,000
< 69,000
Al 731,000
307 21201 A 800,000 770,000 30,000
< 69,000
Al 731,000
10 ALSISXAIEEER2IHEX 800,000 770,000 30,000
OAUOEY 29l 800,000
< 69,000
Al 731,000
AMLIHZEE SMA S8 24,840 25,200 A 360
< 7,452
Al 17,388
307 glz2tol & 24,840 25,200 A 360
< 7,452
Al 17,388
11T M 2XAIS EX 24,840 25,200 A 360
OAILIGIZ2Y SAR SE=E 24,840
< 7,452
Al 17,388
et olsl 23 224l K& 78,000 68,820 9,180
307 21201 A 78,000 68,820 9,180
10 ALSISXAIEEE2GHEX 78,000 68,820 9,180
Oligt-elsl 23 29H X& 78,000
229 2SH &3H & 25,650 25,650 0




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 25,650 25,650 0
11T M SRASEEX 25,650 25,650 0
O3zY Z2sH &3Hl XA 25,650
SHLo MEotd 22/ XA 31,000 35,000 A 4,000
402 RI2EX20| A 31,000 35,000 A 4,000
01 U2 E2ALEX (KA R) 31,000 35,000 A 4,000
OSHLQl Meotd 2e| KIS 31,000
COIAL & SH X3 102,100 84,500 17,600
307 glz2tol & 102,100 84,500 17,600
03 BIAHMEE2LHIEES 70,100 52,500 17,600
O(AHUst=2l3 MFAXE 29 45,100
O(AH)UE=ols MFAIXKE RPHALQE 2
o 25,000
11T M SXAISE EX 32,000 32,000 0
OLQIHE WESK T2 (AH)S =T o1 XX
FEAEESX R 2,000
OSAME 1F & &Z2 WRO(G=5c3H
AL 3) 4,000
Ot =3 SA(A)UHEESTRASA 3,000
ONzd MHES HHO MN(MHESHH) 3,000
oO&= J|1g% J|IZ2A 5,000
OF=Al AILIHE st =6t S8 ZME(A
e R E=R- RSN 3,000
O(ME=ESWEH 5 A8 XS 12,000
Lolg 43 AtY 84,260 80,000 4,260
< 21,065
Al 63,195
307 21201 A 84,260 80,000 4,260
< 21,065
Al 63,195
11T AR S XA E =X 84,260 80,000 4,260
OLols 243 ALY 84,260
< 21,065
Al 63,195
dF= 2L UEd 36,000 36,000 0
< 18,000
Al 18,000
307 glz2tol & 36,000 36,000 0
< 18,000
Al 18,000
02 It M AHE L 36,000 36,000 0
Oz d2=% U3¢ 36,000
< 18,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 18,000
DA RSECAL &4 DALY 25,000 0 25,000
307 gl2tol & 25,000 0 25,000
02 IS AHEE 25,000 0 25,000
ORSELUAN 8201 ¥ 42K 24 U= 25,000
2 AL K& 70,000 78,000 A 8,000
O 0lE &A} 10,000 10,000 0
201 ¢er24] 10,000 10,000 0
03 A2 Z Hl 10,000 10,000 0
ONHole A 10,000
LI AL 50,000 50,000 0
201 L2l 50,000 50,000 0
03 &Ar2 I 50,000 50,000 0
OLelo & A 20,000
oLl HoIEZ U3l 10,000
OISR J& SAA A& 20,000
S s ALY 10,000 10,000 0
201 et 10,000 10,000 0
03 & Ar2 I 10,000 10,000 0
O=sZst &Y 10,000
LO=EXAE X& 13,846,898 13,502, 166 344,732
= 536,667
< 5,484,192
Al 7,826,039
Losta 2Y 3,738,000 3,618,080 119,920
307 21201 A 3,738,000 3,618,080 119,920
05 RIZt2lEt = 3,738,000 3,618,080 119,920
okLe=Exa 29l 185,000
OLel=Xa Al 3,340,000
OLe=X& SAXMERIHLL 213,000
LOoI=EX2 SAMN EEE 118,050 114,990 3,060
< 35,415
Al 82,635
307 gl2tol & 118,050 114,990 3,060
< 35,415
Al 82,635
11T M 2XALSE EX 118,050 114,990 3,060
OLel=X& BAX E8E 118,050
< 35,415
Al 82,635




o0z

=R
o= =
ASTAL XE

Off &t 24

=
i

2

CosX2 dlEE0d 29 X

Y

H

Al

239,400

22,500
216,900

209,400

30,000

307 21201 &

H

Al

239,400

22,500
216,900

209,400

30,000

1A SXAIS 2 =

OLo=Xa dAZ2IH 29 X

H

Al

239,400

239,400

22,500
216,900

209,400

30,000

H

[

1]
ogr
Mo
O
pa]
0
x>
[=s
I>
1]
m
>

= H

126,000

37,800
88,200

126,000

307 21201 A

= N

126,000

37,800
88,200

126,000

= M

126,000
126,000

37,800
88,200

126,000

Z W

604,267
422,987

36,256
145,024

468,222

136,045

307 212t0l &

=z N H

604,267
422,987

36,256
145,024

468,222

136,045

= MW

604,267

604,267
422,987

36,256
145,024

468,222

136,045

L Ol A4S} A

QldigAld XI&

= M

,358,839

, 151,187
,207,652

6,299,007

1,059,832

n

Al

,358,839

, 151,187
,207,652

6,299,007

1,059,832

f

Al

,358,839

, 358,839

, 151,187
,207,652

DO N N[O NN o N

6,299,007

1,059,832

H

Al

586,428

166,929
419,499

586,428




SN XD
M Lol=x =X
@ Z=EXAE X (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 586,428 586,428 0
< 166,929
Al 419,499
11T M SXASE EX 586,428 586,428 0
OLQMEANLE SN SEY 586,428
< 166,929
Al 419,499
SUANE HEZA HAAY 15,000 15,000 0
301 L2 A Z 15,000 15,000 0
11IIEtEA S 15,000 15,000 0
ORUANE H2ZA 2E TAME 15,000
LORQAAL EEAY 227,360 197,694 29,666
= 113,680
= 34,105
Al 79,575
402 RI2HXt20l ™ 227,360 197,694 29,666
= 113,680
< 34,105
Al 79,575
02 2IZt 2 AL EZ(OI XM TH ) 227,360 197,694 29,666
OLQQAANEEF(IsE2L)AY 227,360
= 113,680
< 34,105
Al 79,575
SHSEX 2228 N 633,554 573,595 59,959
309 MEZ 558,554 534,095 24,459
01 SAL- SHINTES 558,554 534,095 24,459
OSNHSHIX 223X 558,554
404 SASHIHEHES 75,000 39,500 35,500
01 SAt - SEHIUSEES 75,000 39,500 35,500
O=XN33EX ZelAl£EHl 75,000
SR Sgsla A 200,000 400,000 200,000
401 AIEHI L 20 200,000 400,000 A200,000
01 A& Bl 200,000 400,000 200,000
SRR 2R AY 200,000
Mot EX XA 13,121,130 10,980, 300 2,140,830
= 2,486,515
J| 32,370
< 1,511,820
Al 9,090,425
LossIIE2M8IAMY XIE 1,152,506 965,085 187,421
= 684,115
< 117,276
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2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

351,115

307 21201 A

= N W

1,152,506
684,115
117,276
351,115

965,085

187,421

A S XA E X

OLQEsIIS2MHA AMSEXH

zZ W

1,152,506
1,152,506

684,115
117,276
351,115

965,085

187,421

H

Al

50,000

35,000
15,000

50,000

307 glztol &

W

Al

50,000

35,000
15,000

50,000

= 4

50,000

50,000

35,000
15,000

50,000

= N H

2,480,389
1,736,273
297,646
446,470

2,016,505

463,884

307 21201 &

= N W

2,480,389
1,736,273
297,646
446,470

2,016,505

463,884

=z N W

2,480,389
2,480,389

1,736,273
297,646
446,470

2,016,505

463,884

EOIDIAFABIA ALY KIR

= M W

2,650
1,855
318
477

4,044

A 1,394

307 21201 A

= M W

2,650
1,855
318
477

4,044

A 1,394

A SXAIE E =

OEHIIJLALMHI A ALY KT

= W

2,650
2,650

1,855
318
477

4,044

A1,394




AN MESID
dM: Lo=X &
@2 MoteolsX X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEHALAESSHY SSAHEMEA 2EXA O 3,360 10,488 AT,128
294l)
J| 1,680
Al 1,680
307 21201 A 3,360 10,488 AT,128
J| 1,680
Al 1,680
10 ALSISXAIEEE2GHEX 3,360 10,488 AT,128
O=HLU=SSHMHL S2d SE0IALE 3,360
J| 1,680
Al 1,680
SENHLESHEHML SSAEMEIA 2GR (2124 48,400 40,224 8,176
)
J| 24,200
Al 24,200
307 glz2+ol & 48,400 40,224 8,176
J| 24,200
Al 24,200
10 ALSISEXAIEEE2EH EX 48,400 40,224 8,176
O=ENL=ESTMHL SsSHHLH A A 1A
=l 48,400
J| 24,200
Al 24,200
SHLAESSHNY SSAHEAMUA 2EXNA(RXNE 12,980 7,452 5,528
+ =)
J| 6,490
Al 6,490
307 gl2tol & 12,980 7,452 5,528
J| 6,490
Al 6,490
10 AL SXNAIEEE2EHEX 12,980 7,452 5,528
OSHUSSHM SsSAHLBAEA 7
2= HE 12,980
J| 6,490
Al 6,490
SHLQ ==Hl XA 112,900 53,760 59,140
301 e A3 112,900 53,760 59,140
01 Ml28E 6= 112,900 53,760 59,140
O=HL2 ==2d XA 112,900
2 F2Ag N& 890,898 890,898 0
< 137,835
Al 753,063
307 glz2tol & 890,898 890,898 0
< 137,835
Al 753,063
11T M SRAISEEX 890,898 890,898 0




AN MESID
M Lol=x B
@2 MoteolsX X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oRz d=z24Y XA 720,090
< 137,835
Al 582,255
oZd2AY Bxod X 170,808
HESH HAS Mool AAHIY 574,380 574,380 0
= 137,970
Al 436,410
301 LAz 22,500 22,500 0
1MIIEELSS 22,500 22,500 0
ONsS=H It AAHE R SAHA 24 22,500
307 glz2+ol & 551,880 551,880 0
< 137,970
Al 413,910
11T MIEXASEX 551,880 551,880 0
ONS=H MMt AABE 551,880
< 137,970
Al 413,910
Mot =XIAE XI& 7,494,304 6,009,245 1,485,059
= 749,430
Al 6,744,874
307 21201 A 7,494,304 6,009,245 1,485,059
< 749,430
Al 6,744,874
10 ALSISXAIEEE2IHEX 7,494,304 6,009,245 1,485,059
OMIt-=XAIE K& 7,494,304
< 749,430
Al 6,744,874
WO =SXIAIE BAK SE4+Y 112,467 132,467 £.20,000
< 33,740
Al 78,727
307 gl2tol & 112,467 132,467 220,000
< 33,740
Al 78,727
11T M SXAISE EX 112,467 132,467 A20,000
OMIM=A=SIAE SMLT SEH 112,467
< 33,740
Al 78,727
COIHOIANAEH 2 123,552 164,736 AN41,184
< 37,065
Al 86,487
307 21201 A 123,552 164,736 AN41,184
< 37,065
Al 86,487
10 ALSISEXAIEEE2EHEX 123,552 164,736 AN41,184
OLQHOIHAHME 29 123,552




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 37,065
Al 86,487
MMOPEII QD2 XGAS KR AH AFS 58,544 57,216 1,328
= 29,272
Al 29,272
307 2Iz2t0| A 58,544 57,216 1,328
= 29,272
Al 29,272
10 MM SXANEEHESIGHEX 58,544 57,216 1,328
OMIMIAEI U2 KA KR AH A 58,544
= 29,272
Al 29,272
LoEIAY sttty 29 2,000 2,000 0
201 2Et24Hy| 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
OLQo=EXAYE 20"y 249 2,000
oSS AMHIAANYE AMHlAZE A JFHSE 1,800 1,800 0
= 540
Al 1,260
307 QI2t0| & 1,800 1,800 0
= 540
Al 1,260
11T A EXAIEEX 1,800 1,800 0
OLQIESEANHIAANY HEIAZ2IX AH2BXE 1,800
& 540
Al 1,260
22822 2,858,170 3,398, 880 A 540,710
== 790,480
Al 2,067,690
sz 2,858,170 3,398, 880 A540,710
= 790,480
Al 2,067,690
822 & 1,352,400 1,364,000 A 11,600
o= 270,480
Al 1,081,920
301 et A= 1,352,400 1,364,000 A 11,600
o= 270,480
Al 1,081,920
01 AISIE & A 452 1,352,400 1,364,000 A 11,600
oeE4+4Y XA 1,352,400
& 270,480
Al 1,081,920
OlAFA R =& X & 4,880 4,880 0
301 ety A= 4,880 4,880 0
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SN MEEXD
Hu: 2L EBL
SERNCE 1 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
206 M = Hl 3,000 3,000 0
01 X2 H| 3,000 3,000 0
o2 2 TS 2o 3,000
401 AlEHIZL 2 0HY| 100,000 230,000 A 130,000
01 Al& H| 100,000 230,000 A 130,000
O=2Z2XN L SESAIE SFHH| 16,000
O=2dBXN 2Y B 10,000
OM=Z Jl2 WA &€ =+ HH| 74,000
NESESSHANS 29 40,000 40,000 0
= 20,000
Al 20,000
307 QI2t0| & 40,000 40,000 0
= 20,000
Al 20,000
11 A EXAIEEX 40,000 40,000 0
OXNES=YRSSTAZ 29 40,000
= 20,000
Al 20,000
HFA EEZ2SY X4 2 S5 HE 893,000 1,300,000 A 407,000
= 500,000
Al 393,000
401 Al HIZL 2 0HY| 893,000 1,300,000 A 407,000
= 500,000
Al 393,000
01 Al&H| 890,000 1,296,500 A 406,500
OHZAl HEZE Z4 U 2 AY 890,000
== 500,000
Al 390,000
03 AlIE 2 0HH| 3,000 3,500 A 500
OFEN 222 T4 U B2E A 3,000
HEFEX AMLRES XS 10,000 0 10,000
301 et A= 10,000 0 10,000
01 Al E& A %52 10,000 0 10,000
OFXNKFEBA AIXRZ22 X2 10,000
ool =Xs& 46,960,518 39,126,823 7,833,695
= 26,096,799
== 6,208,263
Al 14,655,456
ZOQl MEtotd XA 34,646,449 27,590,484 7,055,965
= 22,561,284
< 4,149,882
Al 7,935,283
ool sSXL el XS 802,560 553,392 249,168




SN XD
Hu: ool 2N
ol mOHOI MEOIE X (el @2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 401,280
< 160,512
Al 240,768
307 i+l & 802,560 553,392 249,168
= 401,280
< 160,512
Al 240,768
11 ASISAAISEE =X 802,560 553,392 249,168
OFOCI=X Xl X (elAd]) 802,560
= 401,280
< 160,512
Al 240,768
Zoje et el X 1,139,646 979,659 159,987
= 569,823
< 227,930
Al 341,893
101 1A dl 1,134,750 979,659 155,091
= 567,375
< 226,951
Al 340,424
M4 JI2ZHZEXNSES 1,134,750 979,659 155,091
OZoel LetaEd ARl XA 1,134,750
= 567,375
< 226,951
Al 340,424
201 LBr2d| 4,896 0 4,896
2 2,448
< 979
Al 1,469
01 At 22l 4,896 0 4,896
OFoHel Lt A Rtel XA 4,896
2 2,448
< 979
Al 1,469
ZOHQ AIZFHI L X2l XI& 257,117 153,664 103,453
= 128,557
< 51,422
Al 77,138
101 1A bl 255,737 153,664 102,073
= 127,867
< 51,146
Al 76,724
4 D12 ZEXNSES 255,737 153,664 102,073
OFOH Ll X2 (AlZHHM L Xtel) 255,737
= 127,867
< 51,146
Al 76,724
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2N
X ZH -
L= B o

el

!

o=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 1,380 0 1,380
= 690
< 276
Al 414
01 At 2t 2l 1,380 0 1,380
OFOHA L Xtel X2 (Al2H L Xel) 1,380
= 690
= 276
Al 414
A2 Z0Hl QHOFAF THA AL 218,554 212,996 5,558
= 174,843
< 17,484
Al 26,227
307 21201 A 218,554 212,996 5,558
= 174,843
< 17,484
Al 26,227
11T MISRASEX 218,554 212,996 5,558
OAIZZO0HQI QFOFAL It AF 218,554
= 174,843
< 17,484
Al 26,227
o Xl XNJAdE 23 63,000 60,000 3,000
307 21201 A 63,000 60,000 3,000
05 BIZERI & 3 63,000 60,000 3,000
(©elFal-] 54,119
o=2gHl 2,445
O At I 6,436
HAasZTHe sd Litel X 200,000 200,000 0
307 glz2tol & 200,000 200,000 0
05 BIZHRI & 3 200,000 200,000 0
(©elFal] 183,075
o=2gHl 16,925
ZoHelgXiel Ch20te 292 2,000 2,000 0
201 Let24d]| 2,000 2,000 0
01 At 2teltl 2,000 2,000 0
oOFM LIl C=20tE 29 2,000
ZOHAUEXRI|F W2 20,607 22,180 21,573
= 16,486
S 1,649
Al 2,472
301 et d = 20,607 22,180 A1,573
= 16,486
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2N
X ZH -
L= B o

el

M S 2 X' J_ll‘

o=

Off &t 24

=

i
2m

1,649
2,472

= N W

20,607

20,607
16,486
1,649
2,472

22,

180

A 1,573

Zoielelgdl X

= N W

525,057
420,046
42,005
63,006

381,

143,547

308 MtXIEHMSOIH

=z N W

525,057
420,046
42,005
63,006

381,

143,547

S|
i
o on
=2
2
ro
oy
0z
A
40

© o
0
2
10
I
[==
>
[0

= MW

525,057
525,057

420,046
42,005
63,006

381,

143,547

>
>
Jn
0
2
e
(Pl
i
=3
Ho
N
=
=
P}
0

= N W

10,950
5,475
2,190
3,285

,950

307 21201 &

= W

10,950
5,475
2,190
3,285

,950

Hol ZictHl & A AMHl XI&

Z N W

10,950

10,950
5,475
2,190
3,285

,950

=z N H

306,690

122,676
73,605
110,409

285,

000

21,690

307 glztol &

= HnH

306,690
122,676

73,605
110,409

285,

000

21,690

= 0 W

306,690

306,690
122,676

73,605
110,409

285,

000

21,690

23,863

23,

863
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2N

!

o=

M HOe =2XNE5E
Sl ZOjl MEOIY X CEEEED
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 7,164
Al 16,699
307 glz2tol & 23,863 23,863 0
< 7,164
Al 16,699
11T M SXASEEX 23,863 23,863 0
OFMe M2ES 23,863
< 7,164
Al 16,699
ZOoHe =2EX02 HEX E2 10,260 10,260 0
307 21201 A 10,260 10,260 0
11T M SRASEX 10,260 10,260 0
o&oe =X22 32X E=S 10,260
HASE AS=H 0 A HHE 54,635 54,120 515
301 et A3z 54,635 54,120 515
1MIIEELES 54,635 54,120 515
OZAIE SAlHl 48,510
OSSNt 2324 6,125
Zoie ESXHE AL 15,202,594 11,319,484 3,883,110
= 10,641,816
< 1,824,311
Al 2,736,467
403 MRS E X201 E 15,202,594 11,319,484 3,883,110
= 10,641,816
< 1,824,311
Al 2,736,467
02 SO 2SO HEHAHE X &AL H 15,202,594 11,319,484 3,883,110
OF ESKEAY 15,202,594
= 10,641,816
< 1,824,311
Al 2,736,467
oo s2X FIOKE ALY 628,214 463,370 164,844
< 188,464
Al 439,750
307 gl & 628,214 463,370 164,844
< 188,464
Al 439,750
05 BIZERIE 3 628,214 463,370 164,844
OFEMQ ESEX FIHXA ALY 628,214
< 188,464
Al 439,750
ZHESSW 2Hel=s 8sXE MHIA 40,000 70,000 30,000
307 glz2+ol & 40,000 70,000 A 30,000
11T MIEXASEX 40,000 70,000 230,000
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PN HESIIB

Hu: mojel =2XEZ
el Mol MEOHY X @ CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZOMQ &K MHIA 40,000
LY MEAMEIA HIR™ K 2,074,379 1,362,358 712,021
= 1,452,064
< 207,439
Al 414,876
307 glz2tol & 2,074,379 1,362,358 712,021
= 1,452,064
< 207,439
Al 414,876
05 212t E = 2,074,379 1,362,358 712,021
OLEMHaMHlA B XI& 2,074,379
= 1,452,064
< 207,439
Al 414,876
HAHLEXE Ht*H X 35,689 28,223 7,466
= 24,981
< 3,569
Al 7,139
307 gl2tol & 35,689 28,223 7,466
= 24,981
< 3,569
Al 7,139
05 BIZHRIE 3 35,689 28,223 7,466
OANLEXE HIRH K& 35,689
= 24,981
< 3,569
Al 7,139
LML 224G 1,943 7,680 NB, 737
= 1,360
= 195
Al 388
307 glz2+ol & 1,943 7,680 N5, 737
= 1,360
< 195
Al 388
05 RIZt2E = 1,943 7,680 A5, 737
OLZ TR FRACM4EXEH 1,943
= 1,360
< 195
Al 388
S HEFEFHEXZ 6,000 300 5,700
= 4,800
< 360
Al 840
307 21201 A 6,000 300 5,700
= 4,800
< 360
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2N
X ZH -
L= B o

el

!

o=

Off &t 24

=

i
2m

840

OZZEA NABHALESKA

= W

6,000

6,000
4,800
360
840

300

5,700

=z N H

, 977,756
.524,428
,095,998
,357,330

N — 0 —

10,635,

414

1,342,342

=z N H

977,756
524,428
,095,998
357,330

N — 0 —

10,635,

414

1,342,342

= Hn

11,977,756
977,756
,524,428

,095,998
,357,330

N — 0 —

10,635,

414

1,342,342

= N H

52,906
37,034
6,349
9,523

51

,482

1,424

= N H

52,906
37,034
6,349
9,523

,482

1,424

= mnH

52,906
52,906

37,034
6,349
9,523

51

,482

1,424

FOHAANF=AIE 4T THES K&

= M

10,000

3,000
7,000

,000

307 glztol &

H

Al

10,000

3,000
7,000

,000

1A SXAIE E =

OFMUAANFAIE EAX NES XE

in

Al

10,000
10,000

3,000
7,000

,000

ZOoHe OIEXNJAMH 29

H

Al

167,000

47,100
109,900

150,

000

7,000

307 gl2tol ™

t

167,000
47,100

160,

000

7,000
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2N
X ZH -
L= B o

el

!

o=

- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 109,900
11T A EXAIEEX 157,000 150,000 7,000
OO JIZEXNILEH 294 157,000
= 47,100
Al 109,900
o BMNEHEH 29 160,000 150,000 10,000
=} 64,000
Al 96,000
307 QI2t0| & 160,000 150,000 10,000
=} 64,000
Al 96,000
11 A EXAIEEX 160,000 150,000 10,000
OFOMO BMNFHE 29 160,000
& 64,000
Al 96,000
HF=A HOHUEXRAIAS 29 3,000 5,000 A 2,000
201 fBt24y| 3,000 5,000 A 2,000
01 AP 22| H| 3,000 5,000 A 2,000
ONFAl HOHU=EXRIS &4 3,000
HAEEML SAHIZE XA 29,000 19,000 10,000
= 20,300
= 2,610
Al 6,090
301 et A= 29,000 19,000 10,000
= 20,300
= 2,610
Al 6,090
11 JIEIE A= 29,000 19,000 10,000
O S4HE XNEAFS 29,000
= 20,300
= 2,610
Al 6,090
ZoHe I ¥=sHE N 135,600 135,600 0]
301 et A= 135,600 135,600 0
11 J|EtE A2 135,600 135,600 0
OO JIE 2d=HE NE 135,600
ol JIE SMHIE N 85,000 85,000 0
301 LBt A= 85,000 85,000 0
11 JIEtE A= 85,000 85,000 0
OO JIE s4atHIE N 85,000
HOoHel 0l=s210] 2 & XA 61,000 60,000 1,000
201 LBt 9| 1,000 0 1,000
02 22244l 1,000 0 1,000
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SN XD
M HOe =2XNE5E
el Mol MEOHY X @ CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONdsSE&F 11l KX&2HE 1,000
307 21201 A 60,000 60,000 0
11T MISAASEX 60,000 60,000 0
OHMe 0Is210 =2l s XN& 60,000
2S2X Iz 21,879 21,879 0
= 15,315
< 2,626
Al 3,938
307 21201 A 21,879 21,879 0
= 15,315
= 2,626
Al 3,938
05 BIZHRIE 3 21,879 21,879 0
OEHSEX It=20 21,879
= 15,315
< 2,626
Al 3,938
SSEOQ JPAXEHI K& A 19,800 16,500 3,300
402 RI2EA=20| A 19,800 16,500 3,300
01 2I2EH 2 A B (KM ) 19,800 16,500 3,300
OZSSHOMC JIFAXEHI| XA 19,800
Zojel X2 X2 10,000 10,000 0
201 LBt 10,000 10,000 0
01 At 22l 10,000 10,000 0
OZle sXNESH A2 29 10,000
ESSHMHANSMESTAME XA (ZHl) 299,750 0 299,750
< 119,900
Al 179,850
307 21201 A 299,750 0 299,750
< 119,900
Al 179,850
11T AL SXAEE = 299,750 0 299,750
OZESTMANHMEBXAME XA (ZH) 299,750
< 119,900
Al 179,850
ZOoHe =XH X& 840,161 615,858 224,303
= 31,500
< 156,520
Al 652,141
ZOHQUEH SXAY XI& 135,700 137,500 A 1,800
307 glz2tol & 135,700 137,500 A 1,800
11T M SXAISE EX 135,700 137,500 A 1,800
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SN MEEXD
HE: Zoje =SXNE

S HOoHe S X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 2Iztol ™ 31,200 27,000 4,200
10 AL SXAIEEE 2 H EX 31,200 27,000 4,200
OXFFAZHAH SHEs 23H & 12| 31,200
ZOHQIEX At A X3 25,000 25,000 0
307 eIzl & 25,000 25,000 0
10 ALSISXAIEEE 22X 25,000 25,000 0
OBEHEMAESH=AKZ 2,400
OE=EAAEFOMN A HEZ=AIX S 2,400
OXSXIHEON S M= AKX S 3,400
ON=EHMAR2SIEFAIXE 2,400
OS=HMHARI23HF AKX Z 2,400
Od=E=s0t2 &3l &= AKXl 3 2,400
Ost=wSZHEa &=AlKXZ 2,400
OEFAZHAEFE wetdlH 2,400
OX=H=Z A HF AKX S 2,400
OE=SZMHASXNZH A 2T AKX 2 2,400
ZOHoIol & B A 15,000 15,000 0
307 21201 A 15,000 15,000 0
11T MISXASEX 15,000 15,000 0
OFOfelIel & AL 15,000
ZOHQ AEHM=CHE 9,500 9,500 0
307 gl2tol & 9,500 9,500 0
11 ALS S RAEE = 9,500 9,500 0
OZOQ BOtSHEU X 2 A 9,500
KN MZEOHel HoAld KNJHEH 2 140,231 133,385 6,846
< 37,862
Al 102,369
307 glz2+ol & 140,231 133,385 6,846
< 37,862
Al 102,369
10 ALSISXAIEEE2EH EX 140,231 133,385 6,846
OXMZEOHQ HOAIL XJAHH 2 140,231
< 37,862
Al 102,369
ANEFHe NEXNALH =29 135,005 135,005 0
< 27,001
Al 108,004
307 21201 A 135,005 135,005 0
< 27,001
Al 108,004
10 ALSISXAIEEE2IHEX 135,005 135,005 0




M dE=X0
g Foje sxsd
Selr ZoHe BH X

SN - EAEA) - MRAL

ESS

Off &t 24

=

i
2m

OXZEFOHQ THE X &HEH

H0
0%

Al

135,005

27,001
108,004

H

Al

12,468

3,740
8,728

12,468

307 glztol &

H

Al

12,468

3,740
8,728

12,468

1A SXAIE E =

OAZEM BX=F

= M

12,468
12,468

3,740
8,728

12,468

= N H

45,000
31,500
5,400
8,100

45,000

307 glz2tol &

= N H

45,000
31,500
5,400
8,100

45,000

1A SXAIS 2 =
(¢]

ONHHM WA

= N H

45,000
45,000

31,500
5,400
8,100

45,000

0
2
e
Q
e
EJ
H0
02
P
o

= M

100,000

30,000
70,000

100,000

307 21201 A

= M

100,000

30,000
70,000

100,000

A S XA E =

OFoHe Ofstm 29 K&

M

Al

100,000

100,000

30,000
70,000

100,000

HFA =0 S3A O F

16,000

16,000

307 glztol &

16,000

16,000

1A S XA 2 =

OXFAl =0I23tHl M=

16,000
16,000

16,000

KHMEOHQ HOJAL &= A

H

Al

175,057

52,517
122,540

175,057

307 glz2tol ™

t

175,057
52,517

175,057
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2N
e =SXsN

el

X ZH
S =

ME =0

Zoper Al X

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

Al 122,540

11 AISI S XA E = 175,057 0 175,057
OXIHMEOHO BOlAlE XA 175,057
= 52,517
Al 122,540

ool SXAIE K& 11,473,908 10,920, 481 553,427
= 3,504,015
< 1,901,861
Al 6,068,032

FAUQAANE 23X 1,752,158 1,700,312 51,846
=2 1,226,511
< 525,647

307 21201 A 1,752,158 1,700,312 51,846
= 1,226,511
< 525,647

10 ALSISXAIEEE2GHEX 1,752,158 1,700,312 51,846
OFLRUAIE 23| 1,752,158
= 1,226,511
< 525,647

BURAANE S SAMKL SE€E 56,520 54,720 1,800
< 16,956
Al 39,564

307 QI2+0I & 56,520 54,720 1,800
= 16,956
Al 39,564

11 AS S RAEE = 56,520 54,720 1,800
OBURAANE S SML SE€=H 56,520
< 16,956
Al 39,564

FARAALE HE=E20d XA 12,960 13,360 A 400
< 3,888
Al 9,072

307 glz2+ol & 12,960 13,360 A 400
= 3,888
Al 9,072

11 AISI S XA E X 12,960 13,360 A 400
OFAMNQLAANYE MeZz 13 K& 12,960
< 3,888
Al 9,072

FARAAL Mol HAY| 4,977 5,845 A 868
= 1,493
Al 3,484

307 21201 A 4,977 5,845 A 868
< 1,493
Al 3,484

11T AL SXAEE X 4,977 5,845 A 868
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2N
e =SXsN

el

X ZH
S =

ME=TD

el SXAE X

Off &t 24

=

i
2m

= M

4,977

1,493
3,484

= W

3,211,280
2,247,890

192,680
770,710

3,124,

684

86,596

307 glztol &

= MW

3,211,280
2,247,890

192,680
770,710

3,124,

684

86,596

10ASIANEHER2SE
9

OZOQ AHFAIE

= N H

3,211,280
3,211,280
2,247,890

192,680
770,710

3,124,

684

86,596

o HFAE DIsEZL

= N H

28,898

14,449
4,335
10,114

300,

050

A271,152

402 BI2HX=01 M

= N H

28,898

14,449
4,335
10,114

300,

050

A271,152

= HnH

28,898
28,898

14,449
4,335
10,114

300,

050

A271,152

= M

1

1

,708,323

341,664
, 366,659

1,528,

683

179,640

307 21201 A

= M

1

1

,708,323

341,664
, 366,659

1,528,

683

179,640

10 AFRIS XA EHE 23

=
2
OZMQ =AESAE 2

t

Al

1
1

1

,708,323
, 708,323

341,664
, 366,659

1,528,

683

179,640

Al

259,800

51,960
207,840

259,

800

307 glztol &

Al

259,800

51,960
207,840

259,

800

1A SXAIE E =

259,800

259,

800
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PN HESIIB

g Foje sxsd

Sl Zojel =SXAL X CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OFOHLl Ol SsSALY 259,800
< 51,960
Al 207,840

HOQ BSMEINE 29 200,000 152,546 47,454
< 20,000
Al 180,000

307 21201 A 200,000 152,546 47,454
< 20,000
Al 180,000

10 ALSISEXAIEEE2EHEX 200,000 152,546 47,454
oZle =428 24 200,000
< 20,000
Al 180,000

Zofel HIIESAE 2Y 193,500 184,657 8,843
< 38,700
Al 154,800

307 21201 A 193,500 184,657 8,843
= 38,700
Al 154,800

10 M2 SXNANEHE2IHEX 193,500 184,657 8,843
OFel HIESAE 23 193,500
< 38,700
Al 154,800

e SXNAE ML S8+ 254,200 265,571 A 11,371
< 76,260
Al 177,940

307 glz2tol & 254,200 265,571 A 11,371
= 76,260
Al 177,940

11T MISXASEX 254,200 265,571 A 11,371
OZML SXANE ML SE€H 254,200
< 76,260
Al 177,940

ool HAE(HY) H=AE XN 340,000 309,833 30,167
< 34,000
Al 306,000

307 QI2+0 & 340,000 309,833 30, 167
< 34,000
Al 306,000

10 ALSISXAIEEE2IHEX 340,000 309,833 30,167
OFOHe HE(ONL) HF=AE K& 340,000
= 34,000
Al 306,000

HOHOl RPME HEHE 29 522,396 508,306 14,090

307 gl2tol & 522,396 508, 306 14,090
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2N
X ZH -
L= B

el

ME =0
ol sXsd
el SXAE X

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
11T A EXAIEEX 522,396 508, 306 14,090
O&e XeMe HE=E oAyl
31,773,000 1200 & 381,276
OO XNEHME HE=E 22/29H|
11,760,000 1204 & 141,120
ol 22X 2 29| 1,204,680 1,162,748 41,932
= 240,936
Al 963,744
307 2Iz2t0| A 1,204,680 1,162,748 41,932
= 240,936
Al 963,744
10 M SXANEEHESIGHEX 1,204,680 1,162,748 41,932
OHMA=SA & 2| 1,204,680
& 240,936
Al 963,744
e NEEEY 29 120,000 120,000 0
307 giztol A 120,000 120,000 0
05 QIZtR E 2 120,000 120,000 0
OFNC M= 229 120,000
OO > EGHEH &H 266,620 274,620 A 8,000
=} 35,324
Al 231,296
307 QI2t0| & 266,620 274,620 A 8,000
&< 35,324
Al 231,296
10 A SXNANEEHESIHEX 266,620 274,620 A 8,000
OHMQ «=JFSHHEH 29 266,620
& 35,324
Al 231,296
O MEQISKA A 2H 231,712 234,554 N2,842
== 46,343
Al 185,369
307 2Iz2t0| A 231,712 234,554 N2,842
= 46,343
Al 185,369
10 MM SXAANEEHESIGHEX 231,712 234,554 N2,842
O MEQSKNANEH 29 231,712
= 46,343
Al 185,369
ANZZEOHI(ER) EHE 29 148,574 152,734 A4 160
& 74,287
Al 74,287
307 giztol A 148,574 152,734 A4 ,160
& 74,287
Al 74,287

_36_




2N
e =SXsN

el

X ZH
S =

ME =0

Zofel SXAIE XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 148,574 162,734 AN 4,160
OAZLHMA(ER) A2 2 148,574
= 74,287
Al 74,287
ZOHQ AATHEAE 2] 852,550 567,058 285,492
< 170,510
Al 682,040
307 21201 A 852,550 567,058 285,492
< 170,510
Al 682,040
10 ALSISXAIEEE2GHEX 852,550 567,058 285,492
OO HAMEAE 2| 852,550
< 170,510
Al 682,040
ZOHQ MNHAWEAE JIsES 30,330 0 30,330
= 15,165
< 4,549
Al 10,616
402 QI2H X201 M 30,330 0 30,330
= 15,165
< 4,549
Al 10,616
02 2t 2 A EZ(OI X TH ) 30,330 0 30,330
OZOMQ XNIMHEANE JIsEL 30,330
= 15,165
< 4,549
Al 10,616
ZoHU=X2 JIsES 74,430 0 74,430
< 22,329
Al 52,101
402 RI2EX =20l A 74,430 0 74,430
< 22,329
Al 52,101
02 LA TEALEZ(0IETHR) 74,430 0 74,430
OFMU=N2 Js2 74,430
< 22,329
Al 52,101
HE2IAZH (ME=T) 761,449 796,913 A 35,464
lAAH(MESIIL) 629,119 671,283 AN42,164
ol 2 A (ME=X 1) 629,119 671,283 N42,164
101 14l 629,119 671,283 N42,164
01 2= 629,119 671,283 AN42,164
OAZtZ22xE 629,119
6= 11,0743 «31H «50A1 2+ =128 205,977
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SH: ME=XD
B LSRR (MBS
CHol: ol oy (M=K 1) (Sl &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o= 10,003 & x55H *50Al 2+ 122 330,099
[ Joi= 8,980& «8H «50Al 2tx 12 43,104
@9 8, 1172 «4H«50Al 2t 123 19,481
Q@ITEHSF 22X 10,0032 2 +4A| 2++6L 481
@ ME 22 (62) 89,0183 »1H »582 5,164
O AHMEN LS 2(73) 80,4093 x3H 582! 13,992
OX ML (FL2LEE)
618,294,554 x1.75% 10,821
Jl2Zd(4g=sx) 132,330 125,630 6,700
Jl2dyl (Me=X ) 132,330 125,630 6,700
201 et 69,090 64,730 4,360
01 At 221l 61,090 56,730 4,360
OB+t 31,000
ORI+ 3,000
O= &l 26,040
O=SXICHA R SelXAL E2 Z4lHI 850
OL=H (AL E) 200
02 =224l 8,000 8,000 0
o0z22= % HA 8,000
202 O4dl 55,080 53,400 1,680
01 = LH 4 1 55,080 53,400 1,680
OJl2g =0 55,080
203 YR =] 8,160 7,500 660
01 JI22L =8 3,300 3,300 0
osXagd=g 3,300
04 RN2ELRZ=TH| 4,860 4,200 660
ORNM2IYRFLH 405,000& x12& 4,860
NRes(Me=X) 6,941,153 6,470,712 470,441
HWEHAXS(HEET L) 6,941,153 6,470,712 470,441
HEAAXE(ASESELIH HE2) 6,941,153 6,470,712 470,441
701 JIEtEI HESEES 6,941,153 6,470,712 470,441
01 JIEtel HE &= 6,941,153 6,470,712 470,441
OASESSEIA & 6,941,153
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